3y uy

Question 1.

3Ty’ Hiadr & Hfd 3 Y Sftad & IR F I/ 82
(a) duayuf sfa=

ORSEIER

(c) HIYHT g

(d) TESREH Sia |

¥ Answer

Answer: (c) SISHT g

Question 2.

Hfd A7 F {5y 919 B YUY T B Hedl 872
(a) ST B

(b) WRITBHR HA P

(c) HY g 7 i @t

(d) HUt 7 YyP 9 A ¥ 7 HTHA Dl

¥ Answer

Answer: (d) &t T Y® 9 dI F 7 HTHA D

Question 3.

IRl @) YTl a1 q S - T HRal 82

(a) T BH GURI 1 TR o7 T §HRT Fo¥ B BT Wik HH g1 S|
(b) TH HA ¥ HA & WA & 39 Tgad g

(c) afc B9 g¥RI &1 Tgrar o df g6 o I7&! Tgraar w1t gsi|

(d) TR B! TEIT e AT g & Thd gl

¥ Answer

Answer: (a) Tfc §H GERI ! T Al df AR T9Y & HI fad HH @l Seh |

Question 4.

U U Big Ht T o' Ufe &1 SRR Wy B
(a) @RI ¥ fidit 1 UHR o1 TgrIT DI SR 7 @
(b) TR & My | 7 {1

(c) GIRI & I W 3T dgT

(d) 579 q BIg T

¥ Answer

Answer: (a) GWRI ¥ fodt ot UHR 3t Tgraar &1 SR 9 @1




Question 5.

frafefaa & H19-dt T efawrm ot 31 78 82
(a) HYRITCIT

(b) F=m-fAH0r

(c) Sa=it .
(d) T Y] FIT TG = |

v Answer

Answer: (c) It
IR Yyt Rig iR & @1

Question 6.

ot gRIIRT T & Fgfied # § SH-91 [IBR 61 ffar?
(b) PIPR

(c) TR g

(d) I Uie RWR|

v Answer

Answer: (d) I U3 QBRI

Question 7.
ERAIRTT S BT SFF od 3T UT?
(a) 27 4R ¥ 1907 B!

(b) 15 3R T 1930 &I

(c) 27 AR Iq 1917 &I

(d) 27 3fagaR 99 1927 &I

v Answer

Answer: (a) 27 Td&R 99 1907 &I

Question 8.

3oy’ Higar fead gri fordt 72 82
(a) Ay s

(b) SRR T=

(c) I\YRI &g fedTHR

(d) SIfHv® S|

v Answer

Answer: (b) gRATRT g

PHI WR SNYTMNT dgfdbedid Uy



fAgfeIiRad HToHIRN DI AMYdd UghR 390 U frdl Th TR ey T Ul &b dhfcter IRl H F TGl SR &l
TG BIfTY

3% gy 31 gy oy Ty
RRNECES
% UF-Blg Wt AN Ha, "1 Ad, |1 Ad/
3 gy 4% gy 3% gy
q A YB B
q A 4o ol
q 9 gt Hfl/-hR MUY, B YUY, B I0Y/
3 gy 34 gy 3% g/
g He™ =1 g
ENASR
3Y-AE-Iqd I TUTY, AYTY!
3 gys 31 gy 3%

Question 1.

"SRy’ HiIar § B 7 HA SfaT & IR § §arn 82
(a) QHaquf shew

OEESEIER

(c) Fav¥ry Sfig

(d) SMTSSRBH Sia |

v Answer

Answer: (c) TOYHT Sfta

Question 2.

®fd 979 | Y a1 Bt YUY T BT Bl 82
(a) SHFCRY &I

(b) WIUBHR HH B

(c) B g 7 e @t

(d) 4t T yP 9 TG q T HeHA Dl

v Answer

Answer: (d) &4t T YH 9 AT F T HeHA DI

Question 3.

IR DI T O I HfG T T BT 62

(a) I B9 G¥RI Bt YgTadl A < SHRT TaY A &1 Wfad & gf S|
(b) THT IR § HfA & WIHAH HI 59 Ugad! ¢

(c) Ife §H g¥RI ! TgrIdl o7t o g6 Ht 39D Fgraar H-1 ugih |

(d) TRI @) Yeadl e anT 81 & ¥hd gl

v Answer

Answer: (a) Tf¢ 8 ERI & GeAdl A7 df THRT TUY &R &1 Wfad HH g1 S|




Question 4.

‘T UF Big HY 7T 7’ iR 61 =g Wy B
(a) NI U fdit 1t UHR 1 TgrRIT DI SR 7 G
(b) TR & My | 7 |

(c) GIRI & I W 3T dgT

(d) 9 9§ ®I3 |

v Answer

Answer: (a) GWRI ¥ fodt Ut UHR 3t Tgraar &1 SR 9 @1

Question 5.

HfAdT BT oI Y1 &7 872
(a)d Sita
(b)tﬂaﬂgﬁrﬁﬁéﬂ%mﬁaﬁm
(c) Ul g

(d) TRIS BT TaT HIAT

v Answer

Answer: (b) Sitaq H fARaR Tod &=Ar

3Ifad HYT & A (V) 3R IfOd HYFT & WA (X) BT g Ty
() A B! FRAR Foy Hrd 1 a1
¥ Answer

Answer: (V)

(@) iy &1 31 § SFIRT | gad uy|

v Answer

Answer: (X)

3RUY BT 34 § Ty Sfiaq

() foreht & TerIaT BT SR HA Y AR T B B WfekT HH & A B

v Answer

Answer: (V)

() geit 3 BT Site & gl BT Ui g

v Answer



Answer: (V)

TN ¥ IUgad Ufad gAHR wiadl &1 Ufaadr ot SifoT.

v Answer

Answer: 9& 8 Yo Ts

v Answer

Answer: T& U7 B1g 4t AT #d, AN |d, | A7d

() A gy : HPTy : 3fgy:

v Answer

Answer: q 7 YT Ht

(9) LA Y= Bt

v Answer

Answer: q 7 G HHI! PR AYY! B YUY, PR AUY

(F) 3 uy : qfH oy Y gu:
I8 UeH T ©-

v Answer

Answer: I 381 A9 g

(d) &G I

v Answer

Answer: A4 UY, Y TY, Y TY|



